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\/". Vo-Daten

v =(

+Lo)/2

Vo=V /0,95

Vo, V.,

' Lo

V L (0] M
http://farbe.li.tu-berlin.de/ CGI6/CGIBLONA.TXT /.PS; nur Vektorgrafik VG; Start-Ausgabe
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uy=(A — 550) / 50, @V ,Vo-Daten

log Vo= ~0,35[1~u-.J5 [V =(V o+ Lo)2

|Ong = —0,35[.1)\—U570] Vo=V /0,95
_ Adaptation: A =557 Vo, V., Mo, Lo

==
99

e, maximum
log(L m)=-0,02
Lm=0,95
Schwelle
tz=0,00

557570

uy=(A — 550) / 502
logM = -0,35u\—u ]2
|Og Lo = —0,35[.1)\—[]570]
Adaptation: A, =557
maximum
log(L m)=-0,02
L m=0,95
Schwelle
t5=0,00

uy=(A — 550) / 502
log =-0,35u\-u ]2
log o= —0,35)~Us.]
Adaptation: A ,=520

maximum
log(L m)=-0,08
Lm=0,81
Schwelle
tz=0,00

uy=(A — 550) / 50
log =-0,35u\—u ]
logM o= —-0,35[u\~Us.]
Adaptation: A ,=520

maximum
560 log(L m)=-0,08
L m=0,81
Schwelle
t=0,00

uy=(A — 550) / 502
log =-0,35u\-u ]2
logV o= =0,35l)~Us4]
Adaptation: A ,=520

maximum
log(L m)=-0,08
m=0,81
Schwelle
tg=0,00

CGJ60-5A

L., Lo-Daten

°=(

4

)2

Lo=L /0,44

Lo L.,

uy=(A — 550) / 502
log =-0,35u\—u ]
logM o= —0,35[u\—Us.]
Adaptation: A ,=520

maximum
560 log(L m)=-0,08
Lm=0,81
Schwelle
t=0,00

u=( = 550) / 50,
log©, = -0,35u)\—u ]2
log  =-0,35u\-u ]
Adaptation: A =570

/NN

maximum
log(Lm)=—0,35
Lm=0,44
Schwelle

uy=(\ — 550) / 50
log©, = -0,35u\—u ]2
log: =-0,35u\—u ]
Adaptation: A =570
maximum
log(L m)=-0,35
Lm=0,44
Schwelle
=0,00

CGJ60-8A

/-, Vo-Daten

v =(

Vo=V /0,95

Vo V.,

uy=(A — 550) / 502
logV o= -0,35u)\~u ]2
logLo = —0,350\~Us7d

Adaptation: Ay, =557
57570

maximum
log(Lm)=-0,01
Lm=0,95
Schwelle

uy=(A — 550) / 50
log =-0,35u\-u ]
logV o= —0,35)\~Us4]
Adaptation: A ,=520

557570

log(L m)=—0,01
L m=0,95
Schwelle
120,10

uy=(\ — 550) / 502
logM = -0,35l)\—u ]2
|Og Lo = —0,35[.1)\—L|57o]
Adaptation: A, =557

maximum

Vv
1(Mo-V)

uy=(A - 550) / 502
log =-0,35u\—u ]
logM o= —0,35)\~Us.]
Adaptation: A ,=520

maximum

maximum 560 log(L m)=-0,07
log(L m)=-0,07 L m=0,83
L,?,(:Or,ng3 Schwelle
Schwelle t2=0,10
ta=0,10

uy=(A — 550) / 502 uy=(A - 550) / 502
e gk
=y A~ = =-U, N

Adaptation: A ,=520 Adaptation: A ,=520

maximum

maximum 560 IogEL m)=-0,07
log(Lm)=-0,07 Lm=0,83
Lm=0,83 Schwelle

Schwelle 1=0,10

ta=0,10

600

CGJ61-6A
uy=(\ — 550) / 502 L ,Lo-Daten uy=(\ — 550) / 502
log©, = -0,35u)\-u ]2 L=(C0+ 20)2 log©, = -0,35u\—u ]2
log =-0,35u\-u ] MLo=L /0,49 log: =-0,35u\—u ]
Adaptation: A. =570 Lo, Lz, Go, Adaptation: A =570

maximum

maximum log(L m)=—0,30

log(L m)=-0,30
Lm=0,49
Schwelle

CGJB1-7A
CGJ61-7N

CGJ61-8A

TUB-PrvaorIa%e CGJ6; Elementar-Farbensehen; SchwelleO (links) und5(§,1(8r 7(rechts), I(E)())O
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